





Department of Health

Central Luzon Center for Health Development

MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL

P. Monroe Street, Poblacion, Mariveles, Bataan, Philippines, 2105

Mobile: 0968-854-5320

BAGONG PILIPINAS procurement@mmh.gov.ph/ procurement.mmwgh@gmail.com / mmwgh.gov.ph

REQUEST FOR QUOTATION (RFQ)

Date:	21-Apr-2025
RFQ No.:	070-2025
PR No.	2025-04-0157; 2025-04-0163

Business Name:	
Address:	
Contact No./ Email:	
Tax Identification No:	

B. Sir/ Madam:

The Mariveles Mental Wellness and General Hospital (MMWGH) through its Bids and Awards Committee invites all eligible and PhilGEPS-registered suppliers, contractors and consultants to quote the best offer for the item/s described herein subject to the Terms and Conditions and/or Technical Specifications and within the Approved Budget for the Contract. (ABC)

Required Documents/ Information to be submitted as attachments to the quotation/ Proposal

- PhilGEPS Registration Number/ Certificate
- Mayor's/ Business Permit
- DTI/ SEC Certificate
- BIR Form 2303
- PCAB License (for Infrastructure)
- Professional License/ Curriculum Vitae (for Consulting Services)
- Updated Tax Clearance
- Sample Invoice/ O.R./ C.R.
- Omnibus Sworn Statement (for ABCs above 50K; must be submitted by the winning bidder within two (2) days from notification of Procurement Office
- Income/ Business tax Return (for ABCs above 500K)

C. This pro-forma quotation maybe submitted either in a sealed envelope to the BAC Office at the address provided, or electronically via email to bidsandawardscommittee.mmwgh@gmail.com 29-Apr-2025, 2:00 PM

adhering to the following conditions on or before:

Terms and Conditions:

- 1 The BAC will only accept sealed bids or quotations, or bids received via the specified email address mentioned above.
- 2 All entries shall be typed or written in a clear legible manner
- 3 All prices offered herein are valid, binding and effective for sixty (60) calendar days from the deadline of submission. Alternative bids shall be rejected.
- 4 Price quotations to be denominated in Philippine Peso shall include all applicable government taxes subject to (BIR 2307) 5% VAT/ 1% Non-VAT and (BIR 2307) 1% EWT (Goods) or 2% EWT (Services) deductions
- 5 MMWGH may require you to submit additional documents that will prove your legal, financial and technical capability to undertake this contract
- 6 In case of tie quotations, the BAC shall adopt and employ "toss coin" as the tie-breaking method to finally determine the single winning provider in accordance with GPPB Circular 06-2005
- 7 MMWGH reserves the right to reject any and all quotations, declare a failure, or not award the contract pursuant to Section 41 of the same RIRR
- 8 The supplier is permitted to use their pro-forma quotation bearing either the company's or supplier's letterhead. And in case supplier's pro forma quotation is submitted, conditions will be governed by the submitted signed Request for Quotation/Proposal and/or Technical Specifications
- 9 Salient provisions of the Revised IRR (RIRR) of Republic Act (RA) 9184: Section 68 Liquidated Damages and Section 69 Imposition of Administrative Penalties shall be observed
- 10 Delivery terms: Delivery to MMWGH within ten (10) working days upon receipt of Purchase Order (PO) or within the working days indicated in the PO. The entirety of the items listed in the Purchase Order/ Job Order must be delivered. Incomplete or partial deliveries will not be accepted.
- 11 Warranty: To ensure the delivery of the quality goods and ensure that manufacturing defects will be corrected by the supplier, the supplier shall provide a warranty security For goods, the supplier shall impose a three (3) month-period in case of Expendable Supplies or a minimum of one (1) year in the case of Non-Expendable Supplies after acceptance of the delivered supplies. Warranty security may be obligated by the supplier through special bank guarantee or retention money in an amount equivalent to 2.5% of the total contract price For infrastructure, contractor shall be required to post a warranty in accordance with the following schedule. The warranty security shall be denominated in Philippine Pesos, remain effective for one (1) year from the date of issuance of the Certificate of Final Acceptance by the Procuring Entity, and returned only after the lapse of the said one (1) year period
 - Cash or Letter of Credit issued by a Universal or Commercial Bank: Provided, however, That the Letter of Credit shall be confirmed or auntheticated by a Universal or Commercial Bank, if issued by a foreign bank. (Equivalent to 5% of the Total Contract Price)
 - Bank guarantee confirmed by a Universal or Commercial Bank. (Equivalent to 5% of the Total Contract Price)
 - Surety bond callable upon demand issued by GSIS or a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security (Equivalent to 30% of the Total Contract Price)

The said amounts shall only be released after the lapse of the given warranty period pursuant to Section 62.1 of the 2016 Revised IRR of RA 9184.

12 Payment terms: Fifteen (15) working days upon completion of delivery

Very Truly Yours

VINCENT A. ISIP, MPA Chief Administrative Officer





Department of Health

Central Luzon Center for Health Development

MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL

P. Monroe Street, Poblacion, Mariveles, Bataan, Philippines, 2105

Mobile: 0968-854-5320

BAGONG PILIPINAS procurement@mmh.gov.ph/ procurement.mmwgh@gmail.com / mmwgh.gov.ph

REQUEST FOR QUOTATION (RFQ)

Date: 21-Apr-2025

RFQ No.: 070-2025 PR No. 2025-04-0157; 2025-04-0163

			To be filled b	To be filled by bidder				
TEM NO.	QTY	UNIT	UNIT COST	ABC	TECHNICAL SPECIFICATIONS AND DESCRIPTION	BRAND/MODEL	UNIT	TOTAL AMOUNT
	2	unit	11,100.00	22,200.00				





Department of Health

Central Luzon Center for Health Development

MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL

P. Monroe Street, Poblacion, Mariveles, Bataan, Philippines, 2105

Mobile: 0968-854-5320

BAGONG PILIPINAS procurement@mmh.gov.ph/ procurement.mmwgh@gmail.com / mmwgh.gov.ph

REQUEST FOR QUOTATION (RFQ)

Date: 21-Apr-2025 070-2025 RFQ No .: 2025-04-0157; 2025-04-0163 PR No. Dimension (HxWxD, mm): 211.0 x 124.7 x 8.0 Weight (a): 333 Battery Capacity (mAh, Typical): 5100 Removable: No Video Playing Format: MP4, M4V, 3GP, 3G2, AVI, MKV, WEBM Audio Playing Format: MP3, M4A, 3GA, AAC, OGG, OGA, WAV, AMR, AWB, FLAC, MID, MIDI, XMF, MXMF, IMY, RTTTL, RTX, OTA Video Playing Resolution: FHD (1920 x 1080) @ 60fps, What's in the box: 1x Samsung Galaxy Tab A9 64GB, LTE and Wifi Tablet, USB Type-C Cable, Quick Start Guide, Sim Ejector 550,00 HDMI CABLE 2 550.00 piece High Speed Gold Plated HDMI TO HDMI Cable Length: 2Meters Color: Red Supports HDMI 2.0b 4K 60hz 35,048.00 UNINTERRUPTIBLE POWER SUPPLY (UPS) (4 3 4 piece 8,762.00 UNIVERSAL SOCKETS) Minimum Specifications: Output Power Capacity: 650VA, AVR, 230V Output Frequency: 50/60 Hz +/-1 Hz Nominal Input Voltage: 230V Maximum Input Current: 5A Battery Type: Maintenance-free sealed Lead-Acid battery with suspended electrolyte leak-proof Recharging Time: 4 Hours 4-6 Universal outlets 4,225.00 USB C HUB Type C 3.1 4 piece 4.225.00 7-in-1 USB C HUB HDMI 4K30Hz + PD 100W + SD + TF + 2x USB3.0 + USB C 5Gbps INK, Epson 003, black, 65ml 385.00 4,620.00 5 12 bottle 12 bottle 385.00 4,620.00 6 385.00 4,620.00 INK, Epson 003, magenta, 65ml 7 12 bottle 385.00 4,235.00 INK, Epson 003, yellow, 65ml 8 11 bottle 11,550.00 Laminating Film, A4 250 micron x 100's 9 10 pack 1,155.00 250.00 Marker 5 50.00 10 piece ink type: permanent color: black tip type: twin tip (0.4mm and 1mm) design: for all types of surfaces quick dry and smudge-free 360.00 Paper 3 120.00 11 pack type: Manila size: 36 x 48 inches (93 x 122 cm) quantity: pack of 10 300.00 1,500.00 Paper 12 pack type: photo paper, matte size: A4 color: white

> thickness: 260 gsm quantity: 10 sheets per pack



Name of Canvasser



Department of Health

Central Luzon Center for Health Development

MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL

P. Monroe Street, Poblacion, Mariveles, Bataan, Philippines, 2105

Mobile: 0968-854-5320

BAGONG PILIPINAS procurement@mmh.gov.ph/ procurement.mmwgh@gmail.com / mmwgh.gov.ph

REQUEST FOR QUOTATION (RFQ)

						Date.	21-Apr-2025
						RFQ No.:	070-2025
						PR No.	2025-04-0157; 2025-04-0163
13	6	pack	240.00	1,440.00	Paper type: printable vinyl sticker paper, matte size: A4 color: white thickness: 80 gsm quantity: 20 sheets per pack		
14	85	pack	45.00	3,825.00	Paper type: specialty board size: A4 color: White to Pale Cream quantity: 10 sheets per pack		
15	4	pack	55.00	220.00	Paper type: specialty board paper size: Legal color: Pale Cream Thickness: 200gsm quantity: 10 sheets per pack		
16	39	pack	45.00	1,755.00	Paper type: Sticker paper, matte size: A4 color: white quantity: 10 sheets per pack		
17	20	piece	16.00	320.00	Pen type: ball point pen, retractable design tip point: at least 0.7 mm tip color: black		
18	35	pack	240.00	8,400.00	Photopaper A4 size Single Sided; Hi-Glossy 260 gsm 20 sheets		
19	10	roll	236.40	2,364.00	Tape type: double-sided with foam size: 1 inch length per roll: 5 meters		
20	1	piece	2,100.00	2,100.00	White board type: with aluminum frame size: 2 x 3 feet		
					Nothing Follows		
***Suppliers	shall include t	he Brand and Madu	TOTAL	114,202.00		Will not participate do Budget is too low. Requested item not avail Venue is fully booked Does not have eligibility on Non-conformity with governormity with governormity.	documents emment payments
							ad and accepted the General Terms on the you on the item at prices noted
RFQ served	i by:						
	lumel S. F	Patdu					

Printed Name and Signature of Bidder

J.Patdu

Entity Name: MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL

Fund Cluster: 01

Office/Section : Occupational Ti	herany Unit	PR No.: 2025-04-0163 Responsibility Center Code: MED-OTU	Date: February 13, 2025		
Stock/ Property No.	Unit	Item Description	Quantity	Unit Cost	Total Cost
	Bottle	INK, Epson 003, black, 65ml OTU-048/OTU-001 to 008, 014	12	385.00	4,620.00
	Bottle	INK, Epson 003, cyan, 65ml OTU-049/OTU-001 to 008, 014	12	385.00	4,620.00
	Bottle	INK, Epson 003, magenta, 65ml OTU-050/OTU-001 to 008, 014	12	385.00	4,620.00
	Bottle	INK, Epson 003, yellow, 65ml OTU-051/OTU-001 to 008	11	385.00	4,235.00
	Pack	Laminating Film, A4 250 micron x 100's OTU-056/OTU-001, 006, 007, 008	10	1,155.00	11,550.00
	Piece	Marker ink type: permanent	5	50.00	250.00
		tip type: twin tip (0.4mm and 1mm)	2,019	s psumot s swchi mit	
		design: for all types of surfaces quick dry and smudge-free OTU-063/OTU-006		smedial 1	
	Pack	Paper type: Manila	3	120.00	360.00
		size: 36 x 48 inches (93 x 122 cm) quantity: pack of 10 OTU-078/OTU-007			
easan II	Pack	type, photo paper, matte	5	300.00	1,500.00
New York Control		size: A4 color: white			
		thickness: 260 gsm quantity: 10 sheets per pack OTU-079/OTU-006			
	Pack	Paper type: printable vinyl sticker paper, matte	6	240.00	1,440.00
		size: A4 color: white		THE PROPERTY OF	
en lente		thickness: 80 gsm quantity: 20 sheets per pack OTU-080/OTU-007	ATTENDED TO A	AN ICH WARRING	sartargi Sec. A. Lengt
	Pack	Paper type: specialty board	85	45.00	3,825.00
		size: A4 color: White to Pale Cream		- 125 5,000	
		quantity: 10 sheets per pack OTU-081/OTU-001-005, 007, 008, 013, 014			
	N		I and the second		
				Subtotal	37,020.00

The purpose of these office supplies is for use in various documents necessary for the operation of the Occupational Therapy Unit and will also be used in different programs of the unit.

Entity Name: MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL

Fund Cluster: 01

Office/Section : Occupational Therapy Unit Stock/ Property		PR No.: 2025-04-0163 Responsibility Center Code: MED-OTU		Date: February 13, 2025 April 08, 2025		
		Responsibility Center Code. MED-010		mpm 08, 2025		
No.	Unit	Item Description	Quantity	Unit Cost	Total Cost	
	Pack	Paper type: specialty board paper	4	55.00	220,0	
		size: Legal color: Pale Cream				
		thickness: 200 gsm quantity: 10 sheets per pack OTU-082/OTU-009				
	Pack	Paper type: Sticker paper, matte	39	45.00	1,755.0	
		size: A4 color: white				
		quantity: 10 sheets per pack OTU-083/OTU-001 to 008, 014				
	Piece	Pen type: ball point pen, retractable design	20	16.00	320.0	
		tip point: at least 0.7 mm tip color: black OTU-088/OTU-007				
	Pack	Photopaper A4 size	35	240.00	8,400.0	
		Single Sided; Hi-Glossy 260 gsm				
		20 sheets OTU-089/OTU-001 to 005, 007, 008, 014		- II - I		
	Roll	Tape type: double-sided with foam	10	236.40	2,364.0	
		size: 1 inch length per roll: 5 meters OTU-110/OTU-008				
	Piece	White board type: with aluminum frame	1	2,100.00	2,100.00	
		size: 2 x 3 feet OTU-118/OTU-008	AVAILABLE			
		Nothing follows	AVAILABLE			
			augurf			
		Administra	YS. BANIQUED ative Officer IV	Subtotal	15,159.0	
7.2		1 5 these office supplies is for use in various docume	APR 2025	Grand total	52,179.0	

Signature:

Printed Name: MARIA THERESA SARAH C. RIVERA, MD. MHM, MBA RUBY LYNDA T. REYES, MD, MHM, MBA

Designation: Medical Officer IV/Unit Head, OTU

Requested by:

Approved by:

Chief of Medical Professional Staff II

J.Patru

Entity Name: MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL

Fund Cluster: 01

Office Section : Occupational Therapy Unit		PR No.: 2025-04-0157 Responsibility Center Code: MED-OTU	Date: April 08, 2025		
Stock/ Property	Unit	Item Description A DOC 80	Quantity	Unit Cost	Total Cost
		TABLET		44.400.00	
	Unit	Processor	2	11,100.00	22,200.00
	Ang Flag	CPU Speed: 2.2 GHz, 2 GHz CPU Type: Octa-Core		A PLOT	61A-311
	Komeninor	Size (Main Display): 8.7" (220.5mm)	heliat at // 259		-
		Resolution (Main Display): 1340 x 800 (WXGA+) Technology (Main Display): TFT	11.002 25	10 095 (100)	
		Color Depth (Main Display): 16M Camera			1
		Rear Camera - Resolution: 8.0 MP Rear Camera - Auto Focus: Yes			
		Front Camera - Resolution: 2.0 MP Rear Camera - Flash: No	BILL II OLOBROB WESST 1/2 mylezo		-1
		Video Recording Resolution: FHD (1920 x 1080) @ 30fps	badā. O yašī nd	\$ NV 8	
		Storage/Memory Memory (GB): 4	F. De Castro	seila .a s	
		Storage (GB): 64 Available Storage (GB): 44.9	mon D. Ramos an Chuelc C. Ven	6 NA C	
		External Storage Support: MicroSD (Up to 1TB) / Network/Bearer	-		
		2G GSM: GSM850, GSM900, DCS1800, PCS1900 4G FDD LTE: B1 (2100), B2 (1900), B3 (1800), B4 (AWS)	THE WITH BELL		-
		,B5 (850), B7 (2600), B8 (900), B12 (700), B17 (700), B20 (800), B28 (700), B66 (AWS-3)		energin Otas polite	Security Transport
		3G UMTS: B1 (2100), B2 (1900), B4 (AWS), B5 (850), B8 (900)			
Simple	SETT OF THE	4G TDD LTE: B38 (2600), B40 (2300), B41 (2500) USB Version: USB 2.0	ndipre neg muz milipre gent pa	1	
		Location Technology: GPS, Glonass, Beidou, Galileo, QZSS		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
		Earjack: 3.5mm Stereo MHL: No			
		Wi-Fi: 802.11 a / b / g / n / ac 2.4G+ 5GHz, VHT80 Wi-Fi Direct: Yes	diamento nousi Simelene	86374 F	
		Bluetooth Version: Bluetooth v5.3 NFC: No	LiH9 to notistr	6c3/9	
		Bluetooth Profiles: A2DP, AVRCP, DI, HFP, HID, HOGP, HSP, MAP, OPP, PAN, PBAP	TOTAL BOOK NAME	ENGRY W	
		PC Sync.: Smart Switch (PC version) OS: Android		gridge of Medium	ilM 8
		Form Factor: Tablet Sensors: Accelerometer, Geomagnetic Sensor, Light		n delena	
resyled	Jose Cream	Sensor, Proximity Sensor Dimension (HxWxD, mm): 211.0 x 124.7 x 8.0	Nation 287 of		
96 (2017)	Nich. Nurchase ran	Weight (g): 333 Battery Capacity (mAh, Typical): 5100	rotesto enti resaucher è		
		Removable: No Video Playing Format: MP4, M4V, 3GP, 3G2, AVI, FLV,	ен полоо	biB ad by ame	
		MKV, WEBM Audio Playing Format: MP3, M4A, 3GA, AAC, OGG,			
				Subtotal	22,200.00

A tablet serves as a portable device for browsing, media consumption, reading, and using apps, combining the features of a smartphone and a laptop for convenience and versatility that can enhance productivity in all programs within the Occupational Therapy Unit.

J.Pavdu

Fund Cluster: 01 Name: MARIVELES MENTAL WELLNESS AND GENERAL HOSPITAL 2025-04-0 Date: PR No.: e/Section: April 08, 2025 Responsibility Center Code: MED-OTU Occupational Therapy Unit Stock/ Property **Total Cost** Quantity **Unit Cost** Item Description Unit No. OGA, WAY, AMR, AWB, FLAC, MID, MIDI, XMF, MXMF, IMY, RTTTL, RTX, OTA Video Playing Resolution: FHD (1920 x 1080) @ 60fps, What's in the box: 1x Samsung Galaxy Tab A9 64GB, LTE and Wifi Tablet, USB Type-C Cable, Quick Start Guide, Sim Ejector OTU-108/OTU-006-007 HDMI CABLE 550.00 550.00 High Speed Gold Plated HDMI TO HDMI Cable Piece - Length: 2Meters - Color: Red - Supports HDMI 2.0b 4K 60hz OTU-046/OTU-007 UNINTERRUPTIBLE POWER SUPPLY (UPS) (4 8,762.00 35,048.00 4 Piece UNIVERSAL SOCKETS) Minimum Specifications: Output Power Capacity: 650VA, AVR, 230V - Output Frequency: 50/60 Hz +/-1 Hz Nominal Input Voltage: 230V Maximum Input Current: 5A Battery Type: Maintenance-free sealed Lead-Acid with suspended electrolyte leak-proof Recharging Time: 4 Hours 4-6 Universal outlets OTU-114/OTU-003, 006-008 USB C HUB Type C 3.1 4,225.00 4,225.00 Piece 7-in-1 USB C HUB HDMI 4K30Hz + PD 100W + SD + TF + 2x USB3.0 + USB C 5Gbps OTU-115/OTU-007 *Nothing follows* **FUNDS AVAILABLE** MARY JOY S. BANIQUED 39,823.00 Subtotal Administrative Officer IV 5 APR 2025 Grand total 62,023,00 IT accessories such as HDMI cables. USB-C hubs, and uninterruptible power supplies (UPS) boost connectivity and Purpose: functionality, contributing to the improved efficiency of program implementation across all Occupational Therapy Unit programs. Approved by: Requested by: Signature:

Printed Name: MARIA THERESA SARAH C. RIVERA, MD. MHM. MBA RUBY LYND T. REYES, MD. MHM. MBA

Chief of Medical Professional Staff II

Medical Officer IV/Unit Head, OTU

Designation: